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In the following table, indicate the correct answer or answers for each of the 20 questions:
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1. According to the Mercantilists, in a world of two countries,:
a) Both countries can gain from international trade, although the distribution of the gains will depend on the terms of trade.

b) Both countries can gain from international trade but the distribution of the gains will not depend on the terms of trade.

c) Neither of the two countries may benefit from international trade.

d) What one of the countries gains depends on what the other loses.

2. According to the Ricardian model, in autarky:

a) The price of good A relative to the price of good B reflects the relative quantity of labour used in the production of the two goods.

b) The value of two goods with similar labour costs can be very different from each other.

c) The value of a certain good is determined by the capital-labour ratio in the industry that produces that good.

d) The price of good A relative to the price of good B only reflects the quantity of labour used in the production of good A.
3. Consider two countries which produce two goods using labour only. The number of days necessary to produce one unit of each good in each country is as follows:



England
Portugal

Cloth

  100

   90


Wine

  120

   80

We can prove that:

a) England has a comparative advantage in wine.

b) England has an absolute advantage in the production of the two goods

c) The productivity in the cloth sector relative to the productivity in the wine sector is greater in England than in Portugal.

d) Both countries gain from international trade if the international relative price of cloth is equal to 0.95.
4. The basic Ricadian model of trade (2 goods and 2 countries):
a) Can determine the international relative price only if the world demand curve for the two goods is known.

b) Can determine the international relative price even if the world demand curve for the two goods is not known.

c) Can determine which good will be exported and imported by each of the countries.

d) Shows that global output will increase as a result of trade.
5. In the Ricardian model with two countries and many goods:

a) Specialization depends on the relative wages.

b) Each country specializes in the goods in which its relative productivity is lower than its relative wage.

c) Each country specializes in the goods in which its relative productivity is higher than its relative wage.

d) Specialization in indeterminate.

6. A country tends to specialize in the good which uses intensively the factor of production:

a) In which the country is relatively abundant.
b) Whose relative price is lower in the country compared with the other country.

c) In which the country is relatively scarce.

d) Whose relative price is higher in the country compared with the other country.
7. According to the HO model, the international exchange of goods:

a) Is an implicit exchange for factors of production.

b) Has nothing to do with the exchange of factors of production.

c) The two previous possibilities are false.
8. Under the Stopler-Samuelson long-run theorem, an imposition of a tariff on imports leads to:

a) An increase in the income of the factor of production intensively used in the imported good and a decrease in the income of the factor of production not intensively in that good, both in real and nominal terms.

b) A decrease in the income of the factor of production intensively used in the imported good and an increase in the income of the factor of production not intensively in that good, both in real and nominal terms.

c) An increase in the income of the factor of production intensively used in the imported good and a decrease in the income of the factor of production not intensively in that good, only in nominal terms.

d) A decrease in the income of the factor of production intensively used in the imported good and an increase in the income of the factor of production not intensively in that good, only in  nominal terms.

9. According to the HO model of trade:

a) The price of the exported good rises.

b) A country will always gain from trade.

c) The international relative price is indeterminate.

d) There can be either complete or incomplete specialization.

10. According to the Rybczynski theorem, an exogenous increase in the supply of one of the factors of production:

a) Leads to an increase in the output of the two goods.
b) Leads to an increase in the output of the good intensive in that factor, and to a decrease in the output of the other good.

c) Leads to an increase in the output of the good intensive in that factor, and does not have any effect on the output of the other good.

d) Does not have any effect on the output of either good.

11. In the Specific Factors model, the increase in the price of good 1 relative to the price of good 2 leads to:

a) An increase in the purchasing power of the good 2 by the mobile factor.

b)  A decrease in the purchasing power of the good 2 by the mobile factor.

c) An increase in the income of the two specific factors.

d) A decrease in the income of the factor specific to the production of good 1. 
and an increase in the income of the factor specific to the production of good 2.

12. In Krugman’s model of trade based on economies of scale under monopolistic competition, when two countries open up to trade:
a) The output of each typical firm rises and the welfare of consumers falls
b) Both the output of each typical firm and the welfare of consumers rise.

c) Both the output of each typical firm and the welfare of consumers fall.

d) The output of each typical firm falls and the welfare of consumers rises.

13. Consider two countries, Thailand and Switzerland, and one good, watches, whose production is subject to external economies of scale. Currently, Switzerland is the main world producer of watches, whereas Thailand does not have a watch industry. The AC curve of Thailand is below that of Switzerland. Under these circumstances, if the government of Thailand imposes a temporary prohibitive tariff on imports of watches:
a) Thailand’s consumers will gain both in the short run and in the long run.
b) Thailand’s consumers will gain in the long run but lose in the short run.

c) Thailand’s and Swiss consumers will gain both in the short run and in the long run.

d) Thailand’s and Swiss consumers will gain in the long run.
14. According to the Kemp model, under external economies of scale:

a) International trade is possible even if the two countries have the same production possibilities curves and the same preferences.
b) Both countries will necessarily benefit from trade.

c) One country may gain and the other may lose from trade.

d) Both countries may gain from trade.

15. Which of the following protectionist measures imposes the biggest net loss for a small importing country? (Assume the resulting imported quantity is the same for all of them)

a) A tariff on imports

b) A quota on imports

c) A voluntary export restriction (VER).

d) A quota plus a tariff on imports

16. A tariff and a quota with the same effect on the quantity imported:

a) Have always the same effects on the economy of one country.

b) Only have the same effects on the economy of one country if the government sets up an auction whereby it sells the import licenses.

c) Only have the same effects on the economy of one country if the domestic market of the protected good is a monopoly.

d) All previous possibilities are wrong.
17.  According to the Ricardian model, Less Developed Countries can compete with Developed Countries because (choose only the best answer to this question):
a) They are more productive in some goods.
b) They have lower wages.

c) Their lower wages more than offset their lower productivities in some goods.
d) Their lower wages more than offset their lower productivities in most goods.

18. In the Ricardian model with two countries, transport costs:

a) May reduce the number of goods traded between the two countries.

b) Can never reduce the number of goods traded between the two countries.

c) Will always reduce the number of goods traded between the two countries.

d) May turn an exported good by one of the countries into an imported good.

19.  The empirical study by MacDougal (1951) explained in our lectures:

a) Concluded that the value of US exports was higher than the value of UK exports in the industries where the productivity in the US was higher than the productivity in the UK.

b) Concluded that the value of US exports was higher than the value of UK exports in the industries where the relative productivity in the US (qUSi/qUKi) was higher than its relative wage (WUS/WUK).

c) Concluded that the value of US exports was higher than the value of UK exports in the industries where the relative productivity in the US (qUSi/qUKi) was lower than its relative wage (WUS/WUK).

d) Gave support to the Ricardian model of trade.
20.  A large country that imposes a tariff on its imports of oil:

a) Will always suffer a net welfare loss.

b) May enjoy a net benefit.

c) May generate a benefit for the foreign producers of oil.

d) Will produce an uncertain effect on the welfare of the foreign producers of oil.
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